
https://www.youtube.com/watch?v=l5fk7HPmo5g!

http://chemconnections.org/general/movies/acid-intro.mov!

http://chemconnections.org/general/movies/Bases-intro.mov!



Nitric acid, HNO3, is considered to be a strong acid whereas
 nitrous acid, HNO2, is considered to be a weak acid. Which of
 the statements here is fully correct?	



A. 	

Nitric acid has an aqueous equilibrium that lies far to the	


	

right and NO3

– is considered a weak conjugate base.	


B. 	

Nitric acid has a stronger conjugate base than nitrous acid.	


C. 	

The dissociation of nitrous acid compared to an equal	


	

concentration of nitric acid produces more H+.	



D. 	

The equilibrium of nitrous acid lies far to the left and the	


	

conjugate base is weaker than the conjugate base of nitric	


	

acid.	





A)  correctly compares equilibrium and conjugate base
 characteristics.  The conjugate base of a strong acid is
 considered to be weak.  The stronger the acid, the more
 reaction in water. Therefore, a weak acid’s equilibrium is
 favored to the left.	



http://phet.colorado.edu/sims/html/acid-base-solutions/latest/acid-base-solutions_en.html!

http://chemconnections.org/general/movies/H2O-ionz.MOV!



http://chemconnections.org/general/movies/KwActivity.swf!
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In an aqueous solution at a particular temperature the [H+]
 was measured as 1 × 10–6 M. What is the [OH–] in the same
 solution?  Is the solution acidic, basic, or neutral?	



A. 	

1 × 10–20 M; acidic	


B. 	

1 × 10–8 M; acidic	


C. 	

1 × 10 –6 M; basic	


D. 1 × 10–8 M; basic	


E.  1 × 10–7M; neutral	





In an aqueous solution at a particular temperature the [H+]
 was measured as 1 × 10–6 M. What is the [OH–] in the same
 solution?  Is the solution acidic, basic, or neutral?	



A. 	

1 × 10–20 M; acidic	


B. 	

1 × 10–8 M; acidic	


C. 	

1 × 10 –6 M; basic	


D. 1 × 10–8 M; basic	


E.  1 × 10–7M; neutral	



Kw = [H+][OH–] = 1.0 × 10–14 !

An environmental chemist obtains a sample of rainwater near a
 large industrial city.  The [H+] was determined to be 3.5 × 10–6

 M.  What is the pH, pOH, and [OH–] of the solution?	



A. 	

pH = 5.46 ; pOH = 8.54; [OH–] = 7.0 × 10–6 M	


B. 	

pH = 5.46 ; pOH = 8.54; [OH–] = 2.9 × 10–9 M	


C. 	

pH = 12.56 ; pOH =1.44 ; [OH–] = 3.6 × 10–2 M 	


D. pH = 8.54; pOH = 5.46; [OH–] = 2.9 × 10–9 M	



Refer to: 	


http://chemconnections.org/general/chem106/Acids%20an
d%20Bases-WKS-2016.pdf	


https://phet.colorado.edu/sims/html/ph-scale/latest/ph
-scale_en.html	



pH = –log[H+] can be used to find the pH then: 14.00 = pH +
 pOH can be used to obtain the pOH.  Finally, [OH–] = 10–pOH	



A. 	

pH = 5.46 ; pOH = 8.54; [OH–] = 7.0 × 10–6 M	


B. 	

pH = 5.46 ; pOH = 8.54; [OH–] = 2.9 × 10–9 M	


C. 	

pH = 12.56 ; pOH =1.44 ; [OH–] = 3.6 × 10–2 M 	


D. pH = 8.54; pOH = 5.46; [OH–] = 2.9 × 10–9 M	



Refer to: 	


http://chemconnections.org/general/chem106/Acids%20an
d%20Bases-WKS-2016.pdf	


https://phet.colorado.edu/sims/html/ph-scale/latest/ph
-scale_en.html	

 http://chemconnections.org/public_html/general/movies/indicators.MOV!



http://chemconnections.org/general/movies/pHofSaltSolutions.swf!

http://chemconnections.org/general/chem121/Buffers/Buffers-
Med-Pres.htm! http://chemconnections.org/general/chem121/Buffers/Buffers-

CO2-Oceans-2011.htm!



http://chemconnections.org/general/movies/buffer.MOV!

http://chemconnections.org/Presentations/Columbia/slide9-3.html!


